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Test and CI for One Proportion 





Sample   X    N    Sample p          90% CI


1       46   450   0.102222   (0.079624, 0.128812)








This means we are 90% confident that the true proportion (proportion for the population) is between .079624 and .128812.





90% confident means that out of all possible samples taken 90% of them would contain the true proportion.





No because 12% (.12) is between .079624 and .128812 which means there is evidence that shows there proportion could be .12 or possibly even higher.





Use the formula                                                 (Z = 1.645 for 90% C.I, 





margin of error has to be less than or equal to .04 , p = .12, q = .88)


Solve and you get n is greater than 178 so n has to be at least 179.
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1.73





{515.91, 540.09}





{32.86, 39.24} in percents also acceptable {.3286, .3924}
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SKIP





























False, we are 95% confident that the mean household size in the city is between 2.07 and 2.33





{2.0693, 2.3307}





d)  Sample size is larger then 10, and the population is more than 10 times the size of our sample.





 M.E = 1.96(sqrt(pq/n)) 








